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Resfom Varicbles continued.

Recall: o rondom vansble. Gv) X 15 6 function
on the Sawflc- space ot on <xzbe-rm~cu‘£ . (That 15
ah rv ﬁlv¢s o r\uw.()ej‘ 1o each f@SlA(& bu'}com.ﬁ

E;(cwwplc i:
(G)'I{? the eriuert 1S “r'oU two chC-,I/ Lo
can er.'Ftua [« XV X Acr
X(u.sj = sbun of two nuwbers ou dee m
otcowa  wo.
Ee. X(13)=4, X(58)=1.
(b) I’fz the exé)e.nwou‘(: is | Shoot 3 fpee f&ms)”
o Ay deline
) Z(w)=s #of free tluos nmode e
éb IC f‘\z e-i‘tu»czd ;S N | ‘H\c loﬂt-r )’ o=
\/(ws =C.hnbuu'('o PRYX7N -For CL.:IIV:A ticket wo.

/-]Iso, Qﬁzve—wap\ r\v X a-u& O hul«éa‘ x_)wc &e)ﬁu—c
P(X=x) to ke P(Zoll ostectnas to woith Xlw)=x3$).

EXG.mille 2 (s Exaw < {la) cheve) |f the dice
o-t<= f&.;r', Lo I'\G..\lc_
P(X=%) = P(517,2&,35,44,53,62,T13)
= 7/3¢ ® 14.44 /o .

U))Iv\ Ex&.u-\. e I[B) G..Lc:\;c, H’ 'f/ve SLco'ch‘ l\l.£$ %070
of the tiic, asf the sbils are lu&v’)c.uchu:é, Lo,
ACLV&

B(Z=3) = Plell shets mccl=)
= (%)~ 0.5IA.



@

Ncu.: bqg—plhl"':[&h;‘SIUc_V\ alh rV X) Lo ﬂz‘rlue,
the Q‘G’“’M veldve  E(OX) of X étf

E(X)‘-‘- 7 x P(X=x).

Gl Poisda
volies of X

Nete that E(X) is o kind of Sexpected ave e’
4 X. - =

)

[c) Tn E.xc..w-lslc 1/ (Y obove
(&

E(X)= 2 kP(X=k)
k=g

= JP(X=2)*3(X=D+...+ [APX=12)
(,.;r\'ifcav.ﬂ.\/W ]

2, 3 2 1
+k: Q\j&m‘ = l. 361- &. 36 1...& + 'l.¢§-é+ l&.aé
c,.u.oQ C.ow\i
eadn evert = 7

(k) In Exaw-lslle, 1/2 (8], v showed last
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P(2=0)= 0.003, P(z=l)=0.076,
5 P(Z=a)= 0.3%%, P(z=3)= 0O.5I3.
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Then

EW= [-0.0000+¢ 2-0.0567+...+ 6-0./73
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